中词库 / www.zciku.com
[bookmark: _Toc1]柱状图雅思作文范文推荐5篇
来源：网络  作者：空山幽谷  更新时间：2024-01-23
柱状图雅思作文范文 第一篇图表类例文This line graph shows Canadians’ saving and debt as a percentage of their disposable income between 19...
柱状图雅思作文范文 第一篇
图表类例文
This line graph shows Canadians’ saving and debt as a percentage of their disposable income between 1982 and 1998. In general, the figures reveal that Canadians total debt increased dramatically while savings decreased greatly during that period. From 1982 to 1985, the total debt to disposable income remained at about 56% stably, including about 38% mortgage and
18%consumer debt to disposable income. However, the total debt to income jumped sharply from 1985 to 1998. In 1998,it reached the peak of 101%,of which mortgage debt took up72% and consumer debt took up 29%.On the
contrary, the savings to income fell rapidly between 1982 and 1987, and then it leveled off until 1992 when there came another steep decrease. IN 1998, it bottomed out to 2 %.( 柱状图第一段，描述图表给是数据)
This is a pie chart that shows the proportion of the meat sold in a
supermarket. The total meal sold is classified into six types as follows: chicken, pork, beef, lamb, fish and others. Overall, chicken has he largest proportion, which accounts for 40%; while others has the smallest percentage, at 2%, As can be seen n the chart, chicken, which makes up 40%, is the most popular among the total meat sold, then next is pork with 20%, followed by beef,
constituting 18%, and finally come lamb, fish and others at 15%, 5% and d2% respectively. It should be noted that the sale of pork is half as much as that of chicken. And it is also interesting to note that the sale of chicken is 20 times as much as that of others. (饼状图第一段，描述图表给的数据)
It’s not difficult to arrive at some possible factors that are directly
responsible for those changes/the proportional distributions as depicted above. The most important factor that needs to be highlighted here is that …What’s more … One more factor, though not conclusive, that should also be brought into attention is that…(分析原因)
Just with many other things, it’s not easy to reverse the changes that have already taken place/the proportion that has already taken form. Therefore, I predict that the current situation will continue for a short while.(预测未来情况)
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The data shows the differences between developing and industrialized countries’ participation in education and science.
In terms of the number of years of schooling received, we see that the length of time people spend at school in industrialized countries was much greater at years in 1980, compared to years in developing countries. The gap was increased further in 1900 when the figures rose to years and years respectively.
We can see a similar pattern in the second graph, which shows that the number of people working as scientists and technicians in industrialized countries increased from 55 to 85 per 1,000 people between 1980 and 1990, while the number in developing countries went from 12 to 20.
Finally, the figures for spending on research and development show that industrialized countries more than doubled their spending, from $200bn to$420bn, while developing countries decreased theirs , from$75bn down to $25bn.
Overall we can see that not only are there very large differences between the two economies but that there gaps are widening.
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The bar chart compares the turnover in dollars from sales of video games for four different platforms, namely mobile phones, online, consoles and handheld devices, from 20_ to 20_.
It is clear that sales of games for three out of the four platforms rose each year, leading to a significant rise in total global turnover over the 7-year period. Sales figures for handheld games were at least twice as high as those for any other platform in almost every year.
In 20_, worldwide sales of handheld games stood at around $11 billion, while console games earned just under $6 billion. No figures are given for mobile or online games in that year. Over the next 3 years, sales of handheld video games rose by about $4 billion, but the figure for consoles decreased by $2 billion. Mobile phone and online games started to become popular, with sales reaching around $3 billion in 20_.
In 20_, sales of handheld, online and mobile games reached peaks of 17, 9 and 7 billion dollars respectively. By contrast, turnover from console games dropped to its lowest point, at around $ billion.
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一、表达倍数、分数的句型
柱状图的基本特征就是，在适当的地方作比较。
大家别忘了，剑桥雅思官方对小作文的题目要求是：Summarise the information by selecting and reporting the main features, and make comparisons where relevant.（在有关联的数据之间作比较）
数据之间的比较，指的就是倍数、分数、相等这三种关系。所以，我们需要掌握各种比较关系的表达，小轩总结了三种最实用、最经典的句型：
比如分别用这三种句型来描述下面的图：
句型一：The amount of CO2 emitted from cars in 1999 was three times more than that in 20_. （没错，这是“A是B的3倍”的意思，不是4倍！）
句型二：In 1999, cars produced three times more CO2 than (they did) in 20_.
句型三：There was three times more CO2 emitted by cars in 1999 than in 20_.
再来一个例子：
句型一：In 20_, the average amount of time spent on watching TV on a daily basis by adults in US was ten minutes higher than that by children.
句型二：In 20_, adults in US spent ten minutes more on watching TV every day on average than children (did).
句型三：In 20_, there were ten minutes more time spent on watching TV every day on average by adults in US than by children.
二、柱状图的分类和写作方法
雅思考试里的柱状图可以分为两大类，在拿到题目时就要决定是属于哪一类，因为不同的分类，写作的思路会完全不一样。
>> 第一类：有时间推移的，通常是横轴上数据表示时间。
对于这种类型的柱状图，把它转化为线形图，按照时间的先后顺序来写，一般是从左到右，因为存在时间推移是线形图的首要特征。（线形图的写作步骤请移步到Part 1：线形图）
比如下面的例子：
横轴上表示的是年份，总共有male和female两个元素，我们应该把这图看作是有两条线的线形图，一条线写一个主体段，总共两个主体段。
再如：
横轴上标示的也是年份，但这个图有三元素：Games software, DVD/video, CDs，我们把这图转化为线形图后，可以就每一个元素写一个主体段。
又因为留意到DVD/video和Games software的趋势都是升高的，所以我们也可以把这两个元素合并在一个主体段，另外CDs单独一个主体段，所以总共写两个主体段。
>> 第二类：不存在时间推移的，按照同一分类标准，写内部的各种元素，而各元素又按照数值从大到小的顺序写。
听起来好像很抽象，小轩用一个例题来解释：
我们看到图里有两种分类方式，分别是三个国家（Japan, Brazil, India）和三种行业（agriculture, industry, service sector）。我们在开始写之前，首先要决定好用的是什么分类标准。
就这道题来说，要么以三个国家为线索，分别写每个国家里三种行业工作的人数；要么以三个行业为线索，分别写每个行业里三个国家分别的劳动人数。这是最清晰、最有规律的，而且是最容易掌握的写法！
小轩在课上时常听到烤鸭们争吵柱状图究竟应该按照什么标准来分类，有的老师说应该按照国家分，有的范文又说应该按照行业来分。
其实，因为分类标准不一样，所以写出来的文章结构会不一样，但都是正确的写法！
如果细心观察这图，会发现存在一些倍数和相等的数据，比如，在日本从事服务业的人数是工业的两倍，在巴西从事农业和工业的人数相等，在印度从事农业的远比工业和农业的多，这些都是特征数据，应该在写作时有意突出。
根据这些特征，以三个国家为线索先写一个中文的提纲：
根据这个中文提纲，就可以很简单地写出全部主体段了：
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雅思小作文饼图范文
摘要：雅思小作文饼图范文。饼图在雅思小作文中是常考题型，本文为大家整理了饼图的真题及范文，以及饼图写作必备的词汇，详情请看下文!
饼状图是是雅思写作必须要拿下的题型，考生要准备一两篇成熟的范文，本文为大家提供雅思小作文饼图范文及专用词汇，希望对大家有帮助!
雅思小作文饼图范文：
WRITINGTASK1：
*ThechartsbelowshowUS.
*S,.
写作范例：
TA.
Inconclusion,,computers,.
雅思小作文饼图常用词汇
①动词“占”的`表达：
accountfor,hold,makeup,takeup,constitute,comprise,represent
②百分比的表达
percentage，proportion,share,某些情况下可以用rate，如literacyrate
③约数表达
themajorityof,mostof,,aminorityof,justover…,slightlymorethan…/lessthan…,nearlyhalf…等
④确切数字表达
分数与百分比的转化：onethird,twofifths，onetenth
常见表达：aquarter,ahalf…………
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